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Q1 Letters from the Greek alphabet are to be transferred to a computer system. Each letter canbe
represented on an 8 by 8 grid. Each column has a value from 1 to 128

The value of each row Is stored in a table. The values in the column headings are used to

work out the value for each row (e.g. in our example, row 8 has the value 64 + 32 + 4+ 2 =

102).

Thus, in the example below, the letter (m) is stored as;

128 64 32 16 8 4 2 1

row value
255
255
102
102
102
102
102
102
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(a) What values would be stored In the table for the Greek character (£)?
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(b) Draw the character formed from the

-

value

value

mﬂmm&mn-g

following value table:

128

o 2 16 8 4 2 1

146

146

84

84

56

16

16
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